BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: **TABULATION DATE:** LJA JOB NO.

CONSTRUCTION OF THE WATER. SANITARY SEWER. AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4 ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1 CITY OF ARCOLA, FORT BEND COUNTY, TEXAS JANUARY 26, 2024 LJA ENGINEERING, INC. C CORTEZ **JANUARY 26, 2024** 2890-1914 (9.2)

TOTAL AMOUNT BID

1) HURTADO CONSTRUCTION COMPANY

BIDDER'S NAME

2) ICON GC LLC

3) CROSTEX CONSTRUCTION INC.

4) R CONSTRUCTION CIVIL, LLC

5) CE BARKER LTD.

\$2,258,943.08

\$2,605,000.00

\$2,610,000.00

CALENDAR DAYS 100/120 KATHLEEN KINCHEN

EEN KINCHEN, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4 ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1 CITY OF ARCOLA, FORT BEND COUNTY, TEXAS JANUARY 26, 2024

LIA ENGINEFERING, INC.

LJA ENGINEERING, INC. C CORTEZ JANUARY 26, 2024 2890-1914 (9.2)

-0.002.00		1) HURTADO CONSTRUCTION CO			2) ICON GO	3) CROSTEX CONSTRUCTION INC.		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
POST OAK POINTE SECTION 4 WATER SYSTEM ITEMS								
1 6" P.V.C. WATER PIPE, C-900, DR 14, CLASS 305, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	705	\$28.88	\$20,360.40	\$35.00	\$24,675.00	\$28.00	\$19,740.00
2 8° P.V.C. WATER PIPE, C-900, DR 14, CLASS 305, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2683	\$40.48	\$108,607.84	\$49.00	\$131,467.00	\$42.00	\$112,686.00
3 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" VALVE & BOX, 6" LEAD AND FIRE HYDRANT, COMPLETE IN PLACE	EA	8	\$6,888.00	\$55,104.00	\$5,750.00	\$46,000.00	\$6,300.00	\$50,400.00
4 6" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	4	\$1,160.00	\$4,640.00	\$1,350.00	\$5,400.00	\$1,150.00	\$4,600.00
5 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	7	\$1,728.00	\$12,096.00	\$1,850.00	\$12,950.00	\$1,725.00	\$12,075.00
6 CAST IRON WATERLINE FITTINGS, COMPLETE IN PLACE	TON	2.64	\$5,000.00	\$13,200.00	\$1.00	\$2.64	\$5,500.00	\$14,520.00
7 TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	3388	\$0.08	\$271.04	\$0.01	\$33.88	\$0.05	\$169.40
8 BORE AND JACK OR TUNNEL FOR 8" WATERLINE (EXCLUDES PIPE), INCLUDES BORE BITS, ALL DEPTHS, COMPLETE IN PLACE	LF	100	\$48.00	\$4,800.00	\$62.00	\$6,200.00	\$35.00	\$3,500.00
9 12" X 8" TAPPING SLEEVE AND VALVE, COMPLETE IN PLACE	EA	1	\$5,080.00	\$5,080.00	\$5,800.00	\$5,800.00	\$9,500.00	\$9,500.00
POST OAK POINTE SECTION 4 WATER SYSTEM ITEMS SUBTOTAL:				\$224,159.28		\$232,528.52		\$227,190.40
POST OAK POINTE SECTION 4 SANITARY SEWER SYSTEM ITEMS								
1 8" PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 0'-12' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2369	\$48.00	\$113,712.00	\$67.00	\$158,723.00	\$41.00	\$97,129.00
2 8" PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 12'-16' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	446	\$54.88	\$24,476.48	\$85.00	\$37,910.00	\$45.00	\$20,070.00
3 STANDARD 4' SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES (0" – 8" DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE	S, EA	18	\$4,838.00	\$87,084.00	\$7,000.00	\$126,000.00	\$4,800.00	\$86,400.00
4 STANDARD 5' SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES (0" – 8" DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE	S, EA	3	\$8,000.00	\$24,000.00	\$8,000.00	\$24,000.00	\$6,900.00	\$20,700.00
5 FINAL ADJUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE	EA	21	\$88.00	\$1,848.00	\$1.00	\$21.00	\$150.00	\$3,150.00
6 EXTRA DEPTH OF STANDARD SANITARY SEWER MANHOLES, (OVER & DEPTH), COMPLETE IN PLACE	VF	58.09	\$328.00	\$19,053.52	\$1.00	\$58.09	\$725.00	\$42,115.25
7 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2441, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, DROP, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	24	\$2,108.00	\$50,592.00	\$1,700.00	\$40,800.00	\$1,335.00	\$32,040.00
8 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER WYE, PLUG, DROP, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	391	\$78.00	\$30,498.00	\$69.00	\$26,979.00	\$43.00	\$16,813.00
9 DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	. LF	3206	\$20.00	\$64,120.00	\$20.00	\$64,120.00	\$20.00	\$64,120.00
10 T.V. INSPECTION OF SANITARY SEWER LINES, ALL SIZES AND DEPTHS (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2815	\$0.01	\$28.15	\$2.00	\$5,630.00	\$3.50	\$9,852.50

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4 ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1 CITY OF ARCOLA, FORT BEND COUNTY, TEXAS JANUARY 26, 2024 LJA ENGINEERING, INC. C CORTEZ JANUARY 26, 2024

2) ICON GC LLC

3) CROSTEX CONSTRUCTION INC.

				I) HORTADO CONSTITO	CHOIL COM ANT	2) 10011 00	LLO	3) CROOTEX CONSTI	COCTION INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	FRENCH SAFETY SYSTEM, (TOTAL INCLUDES LONG SIDE LEADS), ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	3206	\$0.08	\$256.48	\$0.01	\$32.06	\$0.10	\$320.60
8	CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED B" SANITARY SEWER LINE, INCLUDING ALL SEALS AND APPURTENANCES NECESSARY, COMPLETE IN PLACE	EA	2	\$1,988.00	\$3,976.00	\$1,800.00	\$3,600.00	\$2,000.00	\$4,000.00
 	CONTROL OF GROUND WATER FOR SANITARY SEWER CONSTRUCTION, NCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR DEEP WELLS, TO BE USED AT DIRECTION OF ENGINEER, COMPLETE N PLACE	LS	1	\$0.02	\$0.02	\$1.00	\$1.00	\$5,000.00	\$5,000.00
POST	DAK POINTE SECTION 4 SANITARY SEWER SYSTEM ITEMS SUBTOTAL:				\$419,644.65		\$487,874.15		\$401,710.35
POST	DAK POINTE SECTION 4 DRAINAGE FACILITIES ITEMS								
	18" R.C.P. (STORM CULVERT WITH 3: S.E.T.) STORM SEWER, ASTM C-76, CLASS II, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	198	\$73.00	\$14,454.00	\$118.00	\$23,364.00	\$85.00	\$16,830.00
	24" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	856	\$80.00	\$68,480.00	\$105.00	\$89,880.00	\$82.00	\$70,192.00
	80" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	412	\$95.00	\$39,140.00	\$118.00	\$48,616.00	\$104.00	\$42,848.00
	86" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	966	\$142.88	\$138,022.08	\$165.00	\$159,390.00	\$143.00	\$138,138.00
	12" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	8	\$198.00	\$1,584.00	\$210.00	\$1,680.00	\$189.00	\$1,512.00
	18" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	402	\$215.00	\$86,430.00	\$270.00	\$108,540.00	\$227.00	\$91,254.00
	54" R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	221	\$318.00	\$70,278.00	\$375.00	\$82,875.00	\$332.00	\$73,372.00
	STAGE I – STANDARD 5' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE	EA	24	\$1,038.00	\$24,912.00	\$1,850.00	\$44,400.00	\$2,500.00	\$60,000.00
F	STAGE II – STANDARD 5' PRECAST INLET ("H-2"), (INCLUDES TEMPORARY SAND – FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	24	\$1,468.00	\$35,232.00	\$1,100.00	\$26,400.00	\$500.00	\$12,000.00
	STAGE I – STANDARD 10' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE	EA	2	\$1,968.00	\$3,936.00	\$2,600.00	\$5,200.00	\$2,500.00	\$5,000.00
F	STAGE II – STANDARD 10' PRECAST INLET ('H-2') (INCLUDES TEMPORARY SAND – FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	2	\$2,518.00	\$5,036.00	\$2,000.00	\$4,000.00	\$1,650.00	\$3,300.00
12 8	3" BRICKWALL PLUG (ALL SIZES), COMPLETE AND IN PLACE	EA	2	\$100.00	\$200.00	\$100.00	\$200.00	\$1,200.00	\$2,400.00
	TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	16	\$2,218.00	\$35,488.00	\$4,000.00	\$64,000.00	\$3,700.00	\$59,200.00
	TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$2,838.00	\$14,190.00	\$6,000.00	\$30,000.00	\$9,000.00	\$45,000.00
15 F	FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE	EA	21	\$8.00	\$168.00	\$1.00	\$21.00	\$125.00	\$2,625.00
16	TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	3063	\$0.08	\$245.04	\$0.01	\$30.63	\$0.05	\$153.15

2890-1914 (9.2)

1) HURTADO CONSTRUCTION COMPANY

Page 3 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4 ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1 CITY OF ARCOLA, FORT BEND COUNTY, TEXAS JANUARY 26, 2024

2) ICON GC LLC

3) CROSTEX CONSTRUCTION INC.

JANUARY 26, 2024 LJA ENGINEERING, INC. C CORTEZ JANUARY 26, 2024 2890-1914 (9.2)

1) HURTADO CONSTRUCTION COMPANY

				I) HORTADO CONSTITO	CHOIL COM AIL	2)100110	O LLO	3) CROSTEX CONS	TROCTION INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	OUTFALL STRUCTURE FOR 48" R.C.P., PER DETAIL, INCLUDES 5" CONCRETE SLOPE PAVING WITH 2' TOE ALL AROUND, RIP RAP, AND ALL OTHER APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$20,000.00	\$20,000.00	\$9,500.00	\$9,500.00	\$25,000.00	\$25,000.00
	OUTFALL STRUCTURE FOR 54" R.C.P., PER DETAIL, INCLUDES 5" CONCRETE SLOPE PAVING WITH 2' TOE ALL AROUND, RIP RAP, AND ALL OTHER APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$13,800.00	\$13,800.00	\$11,000.00	\$11,000.00	\$27,500.00	\$27,500.00
	DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1532	\$20.00	\$30,640.00	\$20.00	\$30,640.00	\$20.00	\$30,640.00
POST	OAK POINTE SECTION 4 DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$602,235.12		\$739,736.63		\$706,964.15
POST	OAK POINTE SECTION 4 WS&D MISCELLANEOUS ITEMS								
	METHOD "A" CONSTRUCTION STAKING AS PER GBI (CONTACT JIMY DYER AT 281.499.4539.), COMPLETE IN PLACE	LS	1	\$11,600.00	\$11,600.00	\$11,600.00	\$11,600.00	\$12,500.00	\$12,500.00
	INSTALLATION, MAINTENANCE & REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	2	\$0.02	\$0.04	\$100.00	\$200.00	\$500.00	\$1,000.00
	CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	500	\$12.00	\$6,000.00	\$12.00	\$6,000.00	\$12.00	\$6,000.00
	WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE USED AS LOT FILL PER THE GRADING PLAN, INCLUDES EXCAVATION, HAULING, PLACING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	5553	\$3.80	\$21,101.40	\$3.89	\$21,601.17	\$3.75	\$20,823.75
	SILT FENCE INLET PROTECTION BARRIERS, SWMHCA SPECIFICATION NO.4511, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	26	\$8.00	\$208.00	\$10.00	\$260.00	\$1.00	\$26.00
	INSTALLATION, MAINTENANCE, AND REMOVAL OF REINFORCED FILTER FABRIC FENCE SWMHCA SPECIFICATIONS NO.4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	4584	\$0.02	\$91.68	\$0.05	\$229.20	\$0.01	\$45.84
	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, NOI AND NOT, COMPLETE IN PLACE	LS	1	\$800.00	\$800.00	\$1,250.00	\$1,250.00	\$2,500.00	\$2,500.00
	MISCELLANEOUS CLEARING, GRUBBING, AND HAULING OFFSITE OF CLEARED MATERIAL AS NEEDED, (TO BE DONE ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00
	CITY OF ARCOLA INFASTRUCTURE PERMIT FEE (1% OF TOTAL CONSTRUCTION COST), COMPLETE IN PLACE	LS	1	\$22,576.80	\$22,576.80	\$26,500.00	\$26,500.00	\$26,100.00	\$26,100.00
10	EXISTING ROADSIDE DITCH TO BE DEMUCKED, FILLED, AND REGRADED, COMPLETE IN PLACE	SY	671	\$1.78	\$1,194.38	\$6.00	\$4,026.00	\$10.00	\$6,710.00
POST	OAK POINTE SECTION 4 WS&D MISCELLANEOUS ITEMS SUBTOTAL:				\$68,572.30		\$79,166.37		\$80,705.59
POST	OAK POINTE SECTION 4 PAVING AND APPURTENANCES IMPROVEMENT ITEMS								
1	6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	10665	\$50.08	\$534,103.20	\$43.00	\$458,595.00	\$53.00	\$565,245.00
2	7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	371	\$62.00	\$23,002.00	\$60.00	\$22,260.00	\$58.50	\$21,703.50
3	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4345	\$3.98	\$17,293.10	\$4.00	\$17,380.00	\$4.00	\$17,380.00
	4" X 12" REINFORCED CONCRETE CURB WITH POLYETHYLENE FIBERS, COMPLETE IN PLACE	LF	2362	\$3.98	\$9,400.76	\$4.00	\$9,448.00	\$4.25	\$10,038.50

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4
ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1
CITY OF ARCOLA, FORT BEND COUNTY, TEXAS
JANUARY 26, 2024
LJA ENGINEERING, INC.
C CORTEZ
JANUARY 26, 2024
2890-1914 (9.2)

2071			-	1) HURTADO CONSTRI	UCTION COMPANY	2) ICON GC LLC		3) CROSTEX CONS	3) CROSTEX CONSTRUCTION INC.	
ITEN	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
5	6° LIME STABILIZED SUBGRADE, INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	12884	\$3.28	\$42,259.52	\$8.00	\$103,072.00	\$4.00	\$51,536.00	
6	LIME FOR SUBGRADE PREPARATION (7% BY WEIGHT, 33 LBS/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	231.91	\$338.00	\$78,385.58	\$330.00	\$76,530.30	\$375.00	\$86,966.25	
7	COMMON ROADWAY EXCAVATION TO BE USED FOR LOT FILL AND IN SPECIFIED FILL AREAS, (PER GRADING PLAN), INCLUDES EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	10625	\$3.38	\$35,912.50	\$8.00	\$85,000.00	\$3.75	\$39,843.75	
8	FINAL LOT GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	54	\$228.00	\$12,312.00	\$500.00	\$27,000.00	\$160.00	\$8,640.00	
g	TYPE 7 WHEELCHAIR RAMPS, INCLUDING TRUNCATED DOME SURFACE TO BE STAINED WITH CONTRASTING COLOR PER THE CONSTRUCTION PLAN SET, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	EA	14	\$724.00	\$10,136.00	\$1,275.00	\$17,850.00	\$1,485.00	\$20,790.00	
10	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE	LS	1	\$23,340.53	\$23,340.53	\$15,460.23	\$15,460.23	\$12,750.00	\$12,750.00	
11	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	8	\$18.00	\$144.00	\$15.00	\$120.00	\$16.00	\$128.00	
12	HYDRO-MULCH SEEDING OF RIGHT-OF-WAYS AND MEDIANS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	4	\$1.00	\$4.00	\$2,350.00	\$9,400.00	\$100.00	\$400.00	
13	BROADCAST SEEDING (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	12	\$0.02	\$0.24	\$0.05	\$0.60	\$10.00	\$120.00	
14	2" SAW-CUT INCLUDING REMOVAL AND DISPOSAL OF EXISTING CONCRETE, INCLUDES ANY NECESSARY APPURTENANCES FOR INSTALLATION, COMPLETE IN PLACE	LF	200	\$15.00	\$3,000.00	\$8.00	\$1,600.00	\$22.00	\$4,400.00	
15	2' SAW-CUT TO BE STARTED 5' FROM THE REMOVAL LOCATION, INCLUDING REMOVAL AND DISPOSAL OF EXISTING CONCRETE, INCLUDES ANY NECESSARY APPURTENANCES FOR INSTALLATION, COMPLETE IN PLACE	LF	606	\$15.00	\$9,090.00	\$13.00	\$7,878.00	\$24.00	\$14,544.00	
16	CONTRACTOR SHALL REMOVE AND DISPOSE OF EXISTING MEDIAN, AND REPLACE WITH PROPOSED 8" PAVEMENT, COMPLETE IN PLACE	SY	677	\$68.00	\$46,036.00	\$85.00	\$57,545.00	\$122.00	\$82,594.00	
POS	FOAK POINTE SECTION 4 PAVING AND APPURTENANCES IMPROVEMENT ITEMS SU				\$844,419.43		\$909,139.13		\$937,079.00	
	TOAK POINTE SECTION 4 PAVING MISCELLANEOUS ITEMS									
1	METHOD "A" PAVING CONSTRUCTION STAKING AS PER GBI PARTNERS, L.P., (CONTACT JIMY DYER AT 281,499,4539), COMPLETE IN PLACE	LS	1	\$5,380.00	\$5,380.00	\$5,380.00	\$5,380.00	\$5,700.00	\$5,700.00	
2	INLET PROTECTION BARRIERS, SWMHCA SPECIFICATION NO.4511, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	26	\$0.02	\$0.52	\$10.00	\$260.00	\$100.00	\$2,600.00	
3	INSTALLATION AND REMOVAL OF REINFORCED FILTER FABRIC FENCE (BACK OF CURB) SWMHCA SPECIFICATIONS NO. 4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	3974	\$0.01	\$39.74	\$0.05	\$198.70	\$0.01	\$39.74	
4	INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	2	\$800.00	\$1,600.00	\$1,500.00	\$3,000.00	\$1,275.00	\$2,550.00	

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4 ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1 CITY OF ARCOLA, FORT BEND COUNTY, TEXAS JANUARY 26, 2024
LIA ENGINEERING, INC.
C CORTEZ
JANUARY 26, 2024

			1) HURTADO CONSTR	UCTION COMPANY	2) ICON GC LLC		3) CROSTEX CONSTRUCTION INC.	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5 5' REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE	LF	4661	\$13.64	\$63,576.04	\$26.50	\$123,516.50	\$44.60	\$207,880.60
6 FINAL LOT GRADING AS-BUILT SURVEYS TO VERIFY LOT GRADING DETAIL. SEE LOT GRADING DETAIL ON SHEET 15 OF 55 OF CONSTRUCTION PLAN, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,650.00	\$2,650.00
7 6" P.V.C. SCHEDULE 40 IRRIGATION SLEEVES (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$32.88	\$16,440.00	\$30.00	\$15,000.00	\$38.00	\$19,000.00
8 CITY OF ARCOLA SUBDIVISION BOND (TOTAL BOND AMOUNT \$299,502), COMPLETE IN PLACE	LS	1	\$6,500.00	\$6,500.00	\$3,500.00	\$3,500.00	\$9,530.17	\$9,530.17
9 8" CONCRETE MAILBOX PAD (13' X 8') TO BE INSTALLED WITHIN THE SECTION AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	2	\$1,938.00	\$3,876.00	\$1,600.00	\$3,200.00	\$3,200.00	\$6,400.00
POST OAK POINTE SECTION 4 PAVING MISCELLANEOUS ITEMS SUBTOTAL:				\$99,912.30		\$156,555.20		\$256,350.51
BIDDING SUMMARY				0004.450.00		7000 500 50		2007 400 40
SUBTOTAL POST OAK POINTE SECTION 4 WATER SYSTEM ITEMS				\$224,159.28		\$232,528.52		\$227,190.40
SUBTOTAL POST OAK POINTE SECTION 4 SANITARY SEWER SYSTEM ITEMS SUBTOTAL POST OAK POINTE SECTION 4 DRAINAGE FACILITIES ITEMS				\$419,644.65		\$487,874.15		\$401,710.35
SUBTOTAL POST OAK POINTE SECTION 4 DRAINAGE PACILITIES ITEMS SUBTOTAL POST OAK POINTE SECTION 4 WS&D MISCELLANEOUS ITEMS				\$602,235.12 \$68,572.30		\$739,736.63 \$79,166.37		\$706,964.15 \$80,705.59
SUBTOTAL POST OAK POINTE SECTION 4 WASAD MISCELLANEOUS TIEMS SUBTOTAL POST OAK POINTE SECTION 4 PAVING AND APPURTENANCES IMPROVEMENT				\$844,419.43		\$909,139.13		\$937,079.00
SUBTOTAL POST OAK POINTE SECTION 4 PAVING MISCELLANEOUS ITEMS				\$99,912.30		\$156,555.20		\$256,350.51
TOTAL AMOUNT BASE BID				\$2,258,943.08		\$2,605,000.00		\$2,610,000.00

2890-1914 (9.2)

 Page 6 of 11
 FRN F-1386

 LJA Engineering, Inc.
 LJA Engineering Line.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4 ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1 CITY OF ARCOLA, FORT BEND COUNTY, TEXAS JANUARY 26, 2024
LJA ENGINEERING, INC. C CORTEZ
JANUARY 26, 2024

			4) D CONSTRUCT:	201 (201/11 11 (2	IL, LLC 5) CE BARKER LTD.				
			4) R CONSTRUCTION		,				
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST			
POST OAK POINTE SECTION 4 WATER SYSTEM ITEMS 1 6" P.V.C. WATER PIPE, C-900, DR 14, CLASS 305, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	705	\$28.00	\$19,740.00	\$31.00	\$21,855.00			
2 8" P.V.C. WATER PIPE, C-900, DR 14, CLASS 305, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2683	\$44.00	\$118,052.00	\$45.00	\$120,735.00			
3 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" VALVE & BOX, 6" LEAD AND FIRE HYDRANT, COMPLETE IN PLACE	EA	8	\$7,500.00	\$60,000.00	\$7,900.00	\$63,200.00			
4 6" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	4	\$1,300.00	\$5,200.00	\$1,400.00	\$5,600.00			
5 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	7	\$1,950.00	\$13,650.00	\$2,000.00	\$14,000.00			
6 CAST IRON WATERLINE FITTINGS, COMPLETE IN PLACE	TON	2.64	\$5,350.00	\$14,124.00	\$5,600.00	\$14,784.00			
7 TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	3388	\$0.10	\$338.80	\$0.01	\$33.88			
8 BORE AND JACK OR TUNNEL FOR 8" WATERLINE (EXCLUDES PIPE), INCLUDES BORE BITS, ALL DEPTHS, COMPLETE IN PLACE	LF	100	\$115.00	\$11,500.00	\$140.00	\$14,000.00			
9 12" X 8" TAPPING SLEEVE AND VALVE, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	\$6,800.00	\$6,800.00			
POST OAK POINTE SECTION 4 WATER SYSTEM ITEMS SUBTOTAL:				\$247,604.80		\$261,007.88			
POST OAK POINTE SECTION 4 SANITARY SEWER SYSTEM ITEMS					_				
1 8" PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 0'-12' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2369	\$43.00	\$101,867.00	\$60.00	\$142,140.00			
2 8" PVC SEWER PIPE, ASTM D 2241, SDR 26, CLASS 160, 12'-16' DEPTH, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	446	\$40.00	\$17,840.00	\$65.00	\$28,990.00			
3 STANDARD 4' SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (0' – 8' DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE	EA	18	\$5,100.00	\$91,800.00	\$4,300.00	\$77,400.00			
4 STANDARD 5' SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (0" – 8" DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, COMPLETE IN PLACE	EA	3	\$7,600.00	\$22,800.00	\$6,850.00	\$20,550.00			
5 FINAL ADJUSTMENTS TO SANITARY MANHOLES, COMPLETE IN PLACE	EA	21	\$100.00	\$2,100.00	\$200.00	\$4,200.00			
6 EXTRA DEPTH OF STANDARD SANITARY SEWER MANHOLES, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	58.09	\$440.00	\$25,559.60	\$525.00	\$30,497.25			
7 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2441, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, DROP, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	24	\$1,350.00	\$32,400.00	\$1,575.00	\$37,800.00			
8 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, CLASS 160, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER WYE, PLUG, DROP, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	391	\$55.00	\$21,505.00	\$72.00	\$28,152.00			
9 DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	3206	\$20.00	\$64,120.00	\$20.00	\$64,120.00			
10 T.V. INSPECTION OF SANITARY SEWER LINES, ALL SIZES AND DEPTHS (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2815	\$2.00	\$5,630.00	\$1.25	\$3,518.75			

2890-1914 (9.2)

Page 7 of 11 FRN F-1386
LIA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4

5) CE BARKER LTD.

ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1
CITY OF ARCOLA, FORT BEND COUNTY, TEXAS
JANUARY 26, 2024
LJA ENGINEERING, INC.
C CORTEZ
JANUARY 26, 2024
2890-1914 (9.2)

4) R CONSTRUCTION CIVIL, LLC

THE THE THINGS ASSETT YEATHERS, TOTAL LICES LONG SIDE LEADS, ALL SIZES AND THE THE THINGS CONFILET IN PLACE 1 THE THINGS SAMPLY SYSTEMS, TOTAL ALL CIDES LONG SIDE LEADS, ALL SIZES AND THE THINGS CONFILET IN PLACE 2 CORREST THE STRUCK CANADAC AND ALL SEARS AND APPLICATIONS AND THE THINGS CONFILED AND THE THINGS CONFILED AND THE THINGS CONFILED AND THE THINGS CONFIDENCE AND ALL SEARS AND APPLICATIONS AND THE THINGS CONFIDENCE AND THE THINGS CONFIDENCE AND THINGS CONFIDENCE AN					4)1000001100110	N OIVIL, LLO	3) OL BARRER	LID.	
12 CORENT TO RESTRICE AND TRANSPER PARTY SPORE MAINTAILE AND CONNECT PROPOSED CA 2 \$1,490,00 \$2,000,00 \$80,000	ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
8* SANTARY SERVER INE, INCLUDING OLI SER, A PAIG APPLICTEMENCES INCLESSES, COUNTRION, OF GROUIDD WATER FOR SANTARY SEVERE CONSTITUTIONS INCLUDED CONVERTIONAL VACUULY TIPE WILL DOTING INTERNAL SURPS AND INCLUDING OCCURRENCES. TO GE USED AT DRICKTION OF ENGINEER CORRECTE 1 STORY FOR PROVINCING AND			LF	3206	\$0.10	\$320.60	\$0.01	\$32.06	
POST OAK POINTE SECTION 4 SANITARY SEWER SYSTEM ITEMS SUBTOTAL: 18	8" SANITARY SE	EWER LINE, INCLUDING ALL SEALS AND APPURTENANCES	EA	2	\$1,450.00	\$2,900.00	\$3,100.00	\$6,200.00	C
1 SE R.C.P. STORM SEWER, ASTIN C-76, CLASS III, ALL DEPTHS, INCLUDES LF 886 380.0 \$76,104.00 \$14,000 \$57,600.00 \$18,012.00 \$60,000 \$17,000 \$57,600.00 \$18,012.00 \$1	INCLUDES CON PUMPS, OR DE	IVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND	LS	1	\$5,000.00	\$5,000.00	\$60,000.00	\$60,000.00	Mo
1 19* R.C.P. (STORM CULVERT WITH 3 S.E.T.) STORM SENER, ASTIN C.TS. (CLASS III.) ALL DEPTHS, INCLUDES SEDION AND BACKFILL, COMPLETE IN PLACE 2 24° R.C.P. STORM SENER, ASTIN C.TS. (CLASS III. ALL DEPTHS, INCLUDES LF 856 \$89.00 \$76,184.00 \$110.00 \$884/60.00 3 37 R.C.P. STORM SENER, ASTIN C.TS. (CLASS III. ALL DEPTHS, INCLUDES LF 412 \$120.00 \$49,840.00 \$140.00 \$57,680.00 8 EDDIONS AND BACKFILL. COMPLETE IN PLACE 4 39° R.C.P. STORM SENER, ASTIN C.TS. (CLASS III. ALL DEPTHS, INCLUDES LF 412 \$120.00 \$154,500.00 \$185,500.00 \$178,710.00 8 20° R.C.P. STORM SENER, ASTIN C.TS. (CLASS III. ALL DEPTHS, INCLUDES LF 402 \$250.00 \$1,720.00 \$1,920.00 \$1,920.00 8 49° R.C.P. STORM SENER, ASTIN C.TS. (CLASS III. ALL DEPTHS, INCLUDES LF 402 \$250.00 \$1,720.00 \$240.00 \$1,920.00 8 49° R.C.P. STORM SENER, ASTIN C.TS. (CLASS III. ALL DEPTHS, INCLUDES LF 402 \$250.00 \$1,900.00 \$240.00 \$1,900.00 8 500.00 AND BACKFILL. COMPLETE IN PLACE 8 40° R.C.P. STORM SENER, ASTIN C.TS. (CLASS III. ALL DEPTHS, INCLUDES LF 402 \$250.00 \$79,560.00 \$100.00 \$10.	POST OAK POINTE SI	ECTION 4 SANITARY SEWER SYSTEM ITEMS SUBTOTAL:				\$393,842.20		\$503,600.06	
III ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	POST OAK POINTE S	ECTION 4 DRAINAGE FACILITIES ITEMS							
BEDDING AND BACKFILL COMPLETE IN PLACE 3 30° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 4 30° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 5 42° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 6 42° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 6 42° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 6 42° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 6 42° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 8 EDDING AND BACKFILL, COMPLETE IN PLACE 6 42° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 8 EDDING AND BACKFILL COMPLETE IN PLACE 9 STAGE I - STANDARD SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 8 EDDING AND BACKFILL COMPLETE IN PLACE 8 STAGE I - STANDARD SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 8 STAGE I - STANDARD SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 8 STAGE I - STANDARD SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 9 STAGE I - STANDARD PRECAST INLET (*H.2*) ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER OF ASTAGE INLETS, COMPLETE IN PLACE 9 STAGE I - STANDARD PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 9 STAGE I - STANDARD PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 10 STAGE I - STANDARD PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 11 STAGE I - STANDARD PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 12 STANDARD TO PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 13 STAGE I - STANDARD TO PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 14 STANDARD TO PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 15 STANDARD TO PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 16 STANDARD TO PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 17 STANDARD TO PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 18 STANDARD TO PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 19 STANDARD TO PRECAST INLET (*H.2*) (INCLUDES TEMPORARY SAND-PLACE 19 STAGE I - STANDARD TO PRECAST INLET (*H.			LF	198	\$73.00	\$14,454.00	\$94.00	\$18,612.00	
BEDDING AND BACKFILL COMPLETE IN PLACE 4 36° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL COMPLETE IN PLACE 5 42° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL COMPLETE IN PLACE 6 46° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL COMPLETE IN PLACE 6 46° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL COMPLETE IN PLACE FOR C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL COMPLETE IN PLACE LF 402 \$250.00 \$100,500.00 \$290.00 \$116,580.00 5 47° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE LF 221 \$380.00 \$79,560.00 \$410.00 \$80,610.00 8 STAGE I - STANDARD S' PRECAST INLET ("4-2") ALL DEPTHS, INCLUDES INLET BEDDING AND BACKFILL, COMPLETE IN PLACE 8 STAGE I - STANDARD S' PRECAST INLET ("4-2") ALL DEPTHS, INCLUDES INLET BEDDING AND BACKFILL COMPLETE IN PLACE 9 STAGE II - STANDARD S' PRECAST INLET ("4-2") ALL DEPTHS, INCLUDES INLET BEDDING AND BACKFILL COMPLETE IN PLACE 10 STAGE I - STANDARD S' PRECAST INLET ("4-2") ALL DEPTHS, INCLUDES INLET BEDDING AND BACKFILL COMPLETE IN PLACE 11 STAGE I - STANDARD S' PRECAST INLET ("4-2") ALL DEPTHS, INCLUDES INLET BEDDING AND BACKFILL COMPLETE IN PLACE 12 STAGE I - STANDARD S' PRECAST INLET ("4-2") ALL DEPTHS, INCLUDES INLET BEDDING AND BACKFILL COMPLETE IN PLACE 13 STAGE I - STANDARD S' PRECAST INLET ("4-2") ALL DEPTHS, INCLUDES INLET BEDDING AND BACKFILL COMPLETE IN PLACE 14 STAGE I - STANDARD S' PRECAST INLET ("4-2") ALL DEPTHS, INCLUDES INLET BEDDING AND BACKFILL COMPLETE IN PLACE 15 STAGE I - STANDARD S' PRECAST INLET ("4-2") ALL DEPTHS, INCLUDES INLET BY DEPTHS AND BACKFILL OF A BACKFILL O			LF	856	\$89.00	\$76,184.00	\$110.00	\$94,160.00	
BEDDING AND BACKFILL, COMPLETE IN PLACE 5 42° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES 6 48° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES EBDDING AND BACKFILL, COMPLETE IN PLACE 6 48° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES EBDDING AND BACKFILL, COMPLETE IN PLACE For a complete in PLACE For a complete in PLACE For a complete in PLACE EA 21 \$360.00 \$10,500.00 \$290.00 \$116,580.00 S90,610.00 S90,610			LF	412	\$120.00	\$49,440.00	\$140.00	\$57,680.00	
BEDDING AND BACKFILL, COMPLETE IN PLACE 6 48° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES FOR THE PLACE 7 54° R.C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES FOR THE PLACE 8 TAGE I – STANDARD S' PRECAST INLET ("H-2") ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE INLETINET ("H-2") ALL DEPTHS, INCLUDES INLET FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 10 STAGE I – STANDARD S' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND—FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 11 STAGE I – STANDARD S' PRECAST INLET ("H-2") (INCLUDES INLET PROTECTION BARRIER FOR STAGE INLETS), COMPLETE IN PLACE 12 STAGE I – STANDARD S' PRECAST INLET ("H-2") (INCLUDES INLET PROTECTION BARRIER FOR STAGE INLETS), COMPLETE IN PLACE 13 STAGE I – STANDARD S' PRECAST INLET ("H-2") (INCLUDES INLET PROTECTION BARRIER FOR STAGE INLETS), COMPLETE IN PLACE 14 STAGE I – STANDARD S' PRECAST INLET ("H-2") (INCLUDES INLETS) FINAL BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 15 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND—FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 16 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND—FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 16 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND—FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 17 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND—FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 18 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND—FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 18 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND—FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 19 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND—FILLED BURLAP B			LF	966	\$160.00	\$154,560.00	\$185.00	\$178,710.00	
BEDDING AND BACKFILL, COMPLETE IN PLACE 7 54" R. C.P. STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES			LF	8	\$215.00	\$1,720.00	\$240.00	\$1,920.00	
BEDDING AND BACKFILL, COMPLETE IN PLACE 8 STAGE I – STANDARD 5' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES INLET EA 24 \$1,300.00 \$31,200.00 \$1,250.00 \$30,000.00 PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE 9 STAGE II – STANDARD 5' PRECAST INLET ("H-2"), (INCLUDES TEMPORARY SAND – EA 24 \$2,600.00 \$62,400.00 \$1,275.00 \$30,600.00 PILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROLL, COMPLETE IN PLACE 10 STAGE I – STANDARD 10' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE 11 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND – FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 11 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND – FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 12 8' BRICKWALL PLUG (ALL SIZES), COMPLETE AND IN PLACE EA 2 \$650.00 \$1,300.00 \$700.00 \$1,400.00 13 TYPE "C' MANHOLLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, EA 16 \$3,200.00 \$51,200.00 \$3,300.00 \$52,800.00 14 TYPE "C' MANHOLLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, EA 5 \$5,300.00 \$2,100.00 \$2,000.00 \$4,200.00 15 FINAL ADJUSTMENT OF MANHOLE FIN BLEVATIONS, COMPLETE IN PLACE 15 FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE EA 21 \$100.00 \$2,100.00 \$200.00 \$4,200.00			LF	402	\$250.00	\$100,500.00	\$290.00	\$116,580.00	
PROTECTION BARRIER FOR STAGE I INLÈTS), COMPLETE IN PLACE 9 STAGE II – STANDARD 5' PRECAST INLET ("H-2"), (INCLUDES TEMPORARY SAND – EA 24 \$2,600.00 \$62,400.00 \$1,275.00 \$30,600.00 FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 10 STAGE I – STANDARD 10' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES INLET PACE EA 2 \$1,600.00 \$3,200.00 \$1,575.00 \$3,150.00 PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE 11 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND – FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 12 8' BRICKWALL PLUG (ALL SIZES), COMPLETE AND IN PLACE EA 2 \$650.00 \$1,300.00 \$700.00 \$1,400.00 13 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, EA 16 \$3,200.00 \$51,200.00 \$3,300.00 \$52,800.00 COMPLETE IN PLACE 14 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, EA 5 \$5,300.00 \$26,500.00 \$6,100.00 \$30,500.00 COMPLETE IN PLACE 15 FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE EA 21 \$100.00 \$2,100.00 \$200.00 \$4,200.00			LF	221	\$360.00	\$79,560.00	\$410.00	\$90,610.00	
FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 10 STAGE I – STANDARD 10' PRECAST INLET ('H-2') ALL DEPTHS, (INCLUDES INLET PLACE EA 2 \$1,600.00 \$3,200.00 \$1,575.00 \$3,150.00 PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE 11 STAGE II – STANDARD 10' PRECAST INLET ('H-2') (INCLUDES TEMPORARY SAND – FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE EA 2 \$2,550.00 \$5,100.00 \$2,100.00 \$4,200.00 FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE EA 2 \$650.00 \$1,300.00 \$700.00 \$1,400.00 13 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, EA 16 \$3,200.00 \$51,200.00 \$3,300.00 \$52,800.00 COMPLETE IN PLACE 14 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, EA 5 \$5,300.00 \$26,500.00 \$6,100.00 \$30,500.00 COMPLETE IN PLACE 15 FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE EA 21 \$100.00 \$2,100.00 \$200.00 \$4,200.00			EA	24	\$1,300.00	\$31,200.00	\$1,250.00	\$30,000.00	
PROTECTION BARRIER FOR STAGE I INLETS), COMPLETE IN PLACE 11 STAGE II – STANDARD 10' PRECAST INLET ("H-2") (INCLUDES TEMPORARY SAND – EA 2 \$2,550.00 \$5,100.00 \$2,100.00 \$4,200.00 FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 12 8" BRICKWALL PLUG (ALL SIZES), COMPLETE AND IN PLACE EA 2 \$650.00 \$1,300.00 \$700.00 \$1,400.00 13 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, EA 16 \$3,200.00 \$51,200.00 \$3,300.00 \$52,800.00 COMPLETE IN PLACE 14 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, EA 5 \$5,300.00 \$26,500.00 \$6,100.00 \$30,500.00 COMPLETE IN PLACE 15 FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE EA 21 \$100.00 \$2,100.00 \$200.00 \$4,200.00	FILLED BURLAF		EA	24	\$2,600.00	\$62,400.00	\$1,275.00	\$30,600.00	
FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE 12 8" BRICKWALL PLUG (ALL SIZES), COMPLETE AND IN PLACE EA 2 \$650.00 \$1,300.00 \$700.00 \$1,400.00 13 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, EA 16 \$3,200.00 \$51,200.00 \$3,300.00 \$52,800.00 COMPLETE IN PLACE 14 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, EA 5 \$5,300.00 \$26,500.00 \$6,100.00 \$30,500.00 COMPLETE IN PLACE 15 FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE EA 21 \$100.00 \$2,100.00 \$200.00 \$4,200.00			EA	2	\$1,600.00	\$3,200.00	\$1,575.00	\$3,150.00	
13 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, EA 16 \$3,200.00 \$51,200.00 \$3,300.00 \$52,800.00 COMPLETE IN PLACE 14 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, EA 5 \$5,300.00 \$26,500.00 \$6,100.00 \$30,500.00 COMPLETE IN PLACE 15 FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE EA 21 \$100.00 \$2,100.00 \$200.00 \$4,200.00	FILLED BURLAF		EA	2	\$2,550.00	\$5,100.00	\$2,100.00	\$4,200.00	
COMPLETE IN PLACE 14 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, EA 5 \$5,300.00 \$26,500.00 \$6,100.00 \$30,500.00 COMPLETE IN PLACE 15 FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE EA 21 \$100.00 \$2,100.00 \$200.00 \$4,200.00	12 8" BRICKWALL I	PLUG (ALL SIZES), COMPLETE AND IN PLACE	EA	2	\$650.00	\$1,300.00	\$700.00	\$1,400.00	
COMPLETE IN PLACE 15 FINAL ADJUSTMENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE EA 21 \$100.00 \$2,100.00 \$200.00 \$4,200.00			EA	16	\$3,200.00	\$51,200.00	\$3,300.00	\$52,800.00	
			EA	5	\$5,300.00	\$26,500.00	\$6,100.00	\$30,500.00	
16 TRENCH SAFETY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE LF 3063 \$0.10 \$306.30 \$0.01 \$30.63	15 FINAL ADJUSTN	MENT OF MANHOLE RIM ELEVATIONS, COMPLETE IN PLACE	EA	21	\$100.00	\$2,100.00	\$200.00	\$4,200.00	
	16 TRENCH SAFET	TY SYSTEM, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	3063	\$0.10	\$306.30	\$0.01	\$30.63	

FRN F-1386 Page 8 of 11 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4 ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1 CITY OF ARCOLA, FORT BEND COUNTY, TEXAS

5) CE BARKER LTD.

CITY OF ARCOLA, FORT BEND
JANUARY 26, 2024
LJA ENGINEERING, INC.
C CORTEZ
JANUARY 26, 2024
2890-1914 (9.2)

4) R CONSTRUCTION CIVIL, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
17	OUTFALL STRUCTURE FOR 48" R.C.P., PER DETAIL, INCLUDES 5" CONCRETE SLOPE PAVING WITH 2" TOE ALL AROUND, RIP RAP, AND ALL OTHER APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$48,000.00	\$48,000.00	\$7,000.00	\$7,000.00
18	OUTFALL STRUCTURE FOR 54" R.C.P., PER DETAIL, INCLUDES 5" CONCRETE SLOPE PAVING WITH 2" TOE ALL AROUND, RIP RAP, AND ALL OTHER APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$28,000.00	\$28,000.00	\$6,200.00	\$6,200.00
19	DEWATERING PER LF OF PIPE (NO SEPARATE PAY FOR DOUBLE ROW IF NEEDED), (ALL DEPTHS, THIS IS AN ESTIMATED QUANTITY TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1532	\$20.00	\$30,640.00	\$20.00	\$30,640.00
POST	OAK POINTE SECTION 4 DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$766,364.30		\$758,992.63
POST	OAK POINTE SECTION 4 WS&D MISCELLANEOUS ITEMS						
1	METHOD "A" CONSTRUCTION STAKING AS PER GBI (CONTACT JIMY DYER AT 281.499.4539.), COMPLETE IN PLACE	LS	1	\$11,600.00	\$11,600.00	\$11,600.00	\$11,600.00
2	INSTALLATION, MAINTENANCE & REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	2	\$1,500.00	\$3,000.00	\$2,400.00	\$4,800.00
3	CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	500	\$12.00	\$6,000.00	\$12.00	\$6,000.00
4	WATER, SANITARY SEWER, AND STORM SEWER UTILITY SPOIL TO BE USED AS LOT FILL PER THE GRADING PLAN, INCLUDES EXCAVATION, HAULING, PLACING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	5553	\$1.00	\$5,553.00	\$3.50	\$19,435.50
5	SILT FENCE INLET PROTECTION BARRIERS, SWMHCA SPECIFICATION NO.4511, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	26	\$30.00	\$780.00	\$70.00	\$1,820.00
6	INSTALLATION, MAINTENANCE, AND REMOVAL OF REINFORCED FILTER FABRIC FENCE SWMHCA SPECIFICATIONS NO.4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	4584	\$1.00	\$4,584.00	\$1.25	\$5,730.00
7	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, NOI AND NOT, COMPLETE IN PLACE	LS	1	\$1,100.00	\$1,100.00	\$1,100.00	\$1,100.00
8	MISCELLANEOUS CLEARING, GRUBBING, AND HAULING OFFSITE OF CLEARED MATERIAL AS NEEDED, (TO BE DONE ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$5,500.00	\$5,500.00	\$8,000.00	\$8,000.00
9	CITY OF ARCOLA INFASTRUCTURE PERMIT FEE (1% OF TOTAL CONSTRUCTION COST), COMPLETE IN PLACE	LS	1	\$23,800.00	\$23,800.00	\$30,000.00	\$30,000.00
10	EXISTING ROADSIDE DITCH TO BE DEMUCKED, FILLED, AND REGRADED, COMPLETE IN PLACE	SY	671	\$3.50	\$2,348.50	\$3.50	\$2,348.50
POST	OAK POINTE SECTION 4 WS&D MISCELLANEOUS ITEMS SUBTOTAL:				\$64,265.50		\$90,834.00
POST	OAK POINTE SECTION 4 PAVING AND APPURTENANCES IMPROVEMENT ITEMS						
1	6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	10665	\$56.00	\$597,240.00	\$54.00	\$575,910.00
2	7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	371	\$68.00	\$25,228.00	\$60.00	\$22,260.00
3	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4345	\$4.00	\$17,380.00	\$3.75	\$16,293.75
4	4" X 12" REINFORCED CONCRETE CURB WITH POLYETHYLENE FIBERS, COMPLETE IN PLACE	LF	2362	\$4.00	\$9,448.00	\$3.75	\$8,857.50



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4 ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1 CITY OF ARCOLA, FORT BEND COUNTY, TEXAS JANUARY 26, 2024 LJA ENGINEERING, INC. C CORTEZ JANUARY 26, 2024 2890-1914 (9.2)

	- 1.G.			(/			
				4) R CONSTRUCT	ION CIVIL, LLC	5) CE BAR	KER LTD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5	6" LIME STABILIZED SUBGRADE, INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	12884	\$4.00	\$51,536.00	\$3.50	\$45,094.00
6	LIME FOR SUBGRADE PREPARATION (7% BY WEIGHT, 33 LBS/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	231.91	\$360.00	\$83,487.60	\$365.00	\$84,647.15
7	COMMON ROADWAY EXCAVATION TO BE USED FOR LOT FILL AND IN SPECIFIED FILL AREAS, (PER GRADING PLAN), INCLUDES EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	CY	10625	\$3.40	\$36,125.00	\$6.00	\$63,750.00
8	FINAL LOT GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	54	\$210.00	\$11,340.00	\$250.00	\$13,500.00
9	TYPE 7 WHEELCHAIR RAMPS, INCLUDING TRUNCATED DOME SURFACE TO BE STAINED WITH CONTRASTING COLOR PER THE CONSTRUCTION PLAN SET, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE	EA	14	\$2,000.00	\$28,000.00	\$1,500.00	\$21,000.00
10	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE	LS	1	\$57,000.00	\$57,000.00	\$8,650.00	\$8,650.00
11	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	8	\$15.00	\$120.00	\$12.00	\$96.00
12	HYDRO-MULCH SEEDING OF RIGHT-OF-WAYS AND MEDIANS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	4	\$1,500,00	\$6,000.00	\$2,000.00	\$8,000.00
13	BROADCAST SEEDING (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	12	\$650.00	\$7,800.00	\$700.00	\$8,400.00
14	2" SAW-CUT INCLUDING REMOVAL AND DISPOSAL OF EXISTING CONCRETE, INCLUDES ANY NECESSARY APPURTENANCES FOR INSTALLATION, COMPLETE IN PLACE	LF	200	\$19.00	\$3,800.00	\$2.00	\$400.00
15	2' SAW-CUT TO BE STARTED 5' FROM THE REMOVAL LOCATION, INCLUDING REMOVAL AND DISPOSAL OF EXISTING CONCRETE, INCLUDES ANY NECESSARY APPURTENANCES FOR INSTALLATION, COMPLETE IN PLACE	LF	606	\$19.00	\$11,514.00	\$2.00	\$1,212.00
16	CONTRACTOR SHALL REMOVE AND DISPOSE OF EXISTING MEDIAN, AND REPLACE WITH PROPOSED 8" PAVEMENT, COMPLETE IN PLACE	SY	677	\$85.00	\$57,545.00	\$76.00	\$51,452.00
POST	OAK POINTE SECTION 4 PAVING AND APPURTENANCES IMPROVEMENT ITEMS SU				\$1,003,563.60		\$929,522.40
POST	OAK POINTE SECTION 4 PAVING MISCELLANEOUS ITEMS						
1	METHOD "A" PAVING CONSTRUCTION STAKING AS PER GBI PARTNERS, L.P., (CONTACT JIMY DYER AT 281,499,4539.), COMPLETE IN PLACE	LS	1	\$5,380.00	\$5,380.00	\$5,380.00	\$5,380.00
2	INLET PROTECTION BARRIERS, SWMHCA SPECIFICATION NO.4511, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	26	\$30.00	\$780.00	\$60.00	\$1,560.00
3	INSTALLATION AND REMOVAL OF REINFORCED FILTER FABRIC FENCE (BACK OF CURB) SWMHCA SPECIFICATIONS NO. 4311, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	3974	\$1.00	\$3,974.00	\$1.25	\$4,967.50
4	INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	2	\$400.00	\$800.00	\$950.00	\$1,900.00

Page 10 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE POST OAK POINTE SECTION 4 ARCOLA MUNICIPAL MANAGEMENT DISTRICT NO. 1 CITY OF ARCOLA, FORT BEND COUNTY, TEXAS JANUARY 26, 2024 LJA ENGINEERING, INC. C CORTEZ JANUARY 26, 2024 2890-1914 (9.2)

			4) R CONSTRUCTION	ON CIVIL, LLC	5) CE BARKE	R LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5 5' REINFORCED CONCRETE SIDEWALK, COMPLETE IN PLACE	LF	4661	\$22.00	\$102,542.00	\$30.00	\$139,830.00
6 FINAL LOT GRADING AS-BUILT SURVEYS TO VERIFY LOT GRADING DETAIL. SEE LOT GRADING DETAIL ON SHEET 15 OF 55 OF CONSTRUCTION PLAN, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
7 6" P.V.C. SCHEDULE 40 IRRIGATION SLEEVES (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$52.00	\$26,000.00	\$28.00	\$14,000.00
8 CITY OF ARCOLA SUBDIVISION BOND (TOTAL BOND AMOUNT \$299,502), COMPLETE IN PLACE	LS	1	\$4,800.00	\$4,800.00	\$6,800.00	\$6,800.00
9 8" CONCRETE MAILBOX PAD (13' X 8') TO BE INSTALLED WITHIN THE SECTION AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	2	\$3,400.00	\$6,800.00	\$850.00	\$1,700.00
POST OAK POINTE SECTION 4 PAVING MISCELLANEOUS ITEMS SUBTOTAL:				\$153,576.00	4 4	\$178,637.50
BIDDING SUMMARY					- W 1	
SUBTOTAL POST OAK POINTE SECTION 4 WATER SYSTEM ITEMS				\$247,604.80		\$261,007.88
SUBTOTAL POST OAK POINTE SECTION 4 SANITARY SEWER SYSTEM ITEMS				\$393,842.20		\$503,600.06
SUBTOTAL POST OAK POINTE SECTION 4 DRAINAGE FACILITIES ITEMS				\$766,364.30		\$758,992.63
SUBTOTAL POST OAK POINTE SECTION 4 WS&D MISCELLANEOUS ITEMS				\$64,265.50		\$90,834.00
SUBTOTAL POST OAK POINTE SECTION 4 PAVING AND APPURTENANCES IMPROVEMENT				\$1,003,563.60		\$929,522.40
SUBTOTAL POST OAK POINTE SECTION 4 PAVING MISCELLANEOUS ITEMS				\$153,576.00		\$178,637.50
TOTAL AMOUNT BASE BID				\$2,629,216.40		\$2,722,594.47

FRN F-1386 Page 11 of 11 LJA Engineering, Inc.